N = 0l & At & M A

20148 & 20

&b L BESI A NIE
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ool KEME = CERED
SH-HH . B(SH) - HBAMY - B2 ofl &k o San HDE2
N [lpspniz 1,081,191 1,065,096 16,095
A THE 22l 910,115 894,032 16,083
A=A &2 910,115 894,032 16,083
SHUAM 2 385,266 386,671 A 1,405
101 @121l 55,761 55,999 N 238
04 JI2ZtH2Z2XNEE S 55,761 55,999 N 238
OXE M BIA, Z2HHA LA AFSG IR 20,222
— o2 39,660 x6H 64 15,230
— 2HANH] 2,000 *6H *64 L x23] 1,536
—F54 39,6603 *6H 12! 2,856
— WEH| 50,000& x6H *23] 600
OXeE FHSEAHN AIG R 14,269
—olgel 39,6603 x6H x44 L 10,471
— 2HAH| 2,000 x6% 442 x23| 1,056
- =54 39,6603 x6H 9 2,142
— WEH| 50,000 6™ *23] 600
OEX, AL H XA AMHOE 16,774
—olgel 39,6603 x9H 37 13,207
— 2HANH| 2,000 x9Y x37 x23| 1,332
- =54 39,6603 x9Y x5 1,785
— WEH| 50,0003 *9H x 13| 450
OXEAH HUAM, RsSXM, EX.JIS 218 &
g2 4,496
=032 22 38,908, 000& x4 .5% 1,751
—2AABEE 22 38,908, 000& *2.95% 1,148
— 1288 23 38,908, 000& x1.5% 584
—AMTHEEZ BRE2 38,908, 000& *2.508% 976
— o) RABEHSEL=
1,117,000 *3.28% 37
201 et A | 202,752 202,489 263
01 At 22l bl 90,258 90,258 0
Ogst2H| 88,438
—OCRAUICIZRIH JIEZIXN FU(DXNAN =
=R 237,000 8L *33] 5,688
— XA At EHE 2 95,000 » 11 1,045
— XNeAY Heh 2 35,000 x52H 1,820
—0CRLXA =82 HHEZaH 222 2
EH S 98) 1,800,000& ~12& 21,600
— XA SRAXG DHE L2t
3,000& 210t Ml =100 600
— XA DXAMN /EsY =222 (SHRAE
500! *40,000H 20,000




M N
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cel UEME &9 (el & e)
SA - BB B () - MM - BES Ol &t o San HmEET
—XNgH XM 2858 2S&F W
50& %135,000AH 6,750
— NN 2o JdatXel X 2 23,035
-SEM DM 37,2903 x8 A x12& 3,580
- NI AHA 44 000 #42 A« 128 2,112
- EIIE MM 39,1603 220 A 8,616
SPARSE= NP 37,2903 88t A 123 3,580
- REHEEE SFIAAN
42,8903 1208 & 5,147
— NN IR E2LS HOIZ ME
100,000& *23| 200
— 2RI L O I 2F A
B 2003 *13,50004 2,700
— HEIA WA EHIIE M=
50,0002 1001 & 500
— MAAl, XS XAl HESHW SHotE WA
50,0003 *6 I A2 *x2F *23] 1,200
— FOIN Dt EIHE HH
50,000 *6H £ 300
—XEFE FHSEMN WA DYR 2= M
200& *15,0000H 3,000
ozg=¢ 1,820
—AgANaeRE A
70,0003 x6H +23] 840
—IIRAARIRE BALY
70,0003 7 +23] 980
02 =224l 112,494 112,231 263
O332= % HAl 83,400
—AN2AZ2 XA DIALEESE SIISH
1,770& %20,000AH 35,400
—NEHMDIXM(EIZ) & SRS UHE ES
UEIREZ 240& 200,000A 48,000
OA&ZEHl s Xl 29,094
— FHLDI L OOoIEHEolIA | X2t 16,324
ol 9 T2PE MY
88,800,000& *5%*1. 1 4,884
- KA 2 A= A
208,000,000& *5%*1. 1 11,440
— g doNZeH RXE+H
114,000,000 & *5%*1. 1 6,270
— & A2 JFA AR =EHAIAE KX
6,500,000 » 14! 6,500
204 AR A H| 57,600 57,600 0
03 EZ YA 57,600 57,600 0
ONSZ2EIER& 100,000 »48H «12& 57,600
207 A RO 13,000 15,000 A 2,000
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ool KEME = (crel: @ el)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
02 AR 13,000 15,000 A 2,000
OJaHE AAIZE =HAAE B 2353 25
13,000, 000& 14! 13,000
301 et a = 5,790 5,790 0
MIIEEd= 5,790 5,790 0
OFMIIY YHES FOUN SEHL D23
6,000, 000& *5% 300
OXLN AN 25 =3
50,000& *20H 43 4,000
OXNEAN SAGAMX A5H M= 7002700 490
OXZAN dA AR 2ZAHTH M &
100,000& »10H 1,000
303 &3 5,000 5,000 0
01 Z& = 5,000 5,000 0
OZ=2, 2UNY 22 ZY3
30,000,000 *5%*23] 3,000
OEX, AF= 2MZAM Z&=
40,000, 000& *5%= 13l 2,000
306 93 13,026 12,680 346
01 &3 13,026 12,680 346
OXNEHNHAZE A3
ESH Z &% 86,837,003,000 *0.015% 13,026
403 MHXISHHE X201 E 32,337 32,113 224
02 S| 2SOICHSHCHE AL Bl 32,337 32,113 224
OHE NLABEANLY 29
32,337,000 » 14! 32,337
MBS & 32,420 30,991 1,429
201 Let2dE] 23,780 23,780 0
01 At 22l 23,780 23,780 0
Oger==gH| 22,660
— A QEHY MBIC YR £42
100& %100,000A4 10,000
— XA A R =2
80& +150,000A4 12,000
— AN A8IIE RHSLI| AEE==E
11,0003 «5CH «12& 660
o2g+g 1,120
—HHNRESRE B 4
70,0003 x8H +23] 1,120
403 XSS A=0l& 8,640 7,211 1,429
02 S| 2 S0l CH &HCH & A HI 8,640 7,211 1,429
OSEXNLHNIEANAE 2 (WeTax)
5,630,000& x13l 5,630
OxE3EAAE 3,010,000& x 13l 3,010
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ool MEWY &2 CERED
SA - BB B () - MM - BES Ol &t o San HmEET
Megzel E2X 302,639 284,364 18,275

101 @124 dl 15,619 0 15,619
04 DIt 22 XREES 15,619 0 15,619
OMExtzr eI EX(1E014 JI2H2
27X) 15,619
—Jles 40,770% 1 %254 10,356
— 2HAlH| 2,000 2502« 1H +23] 1,000
—#E=g 40,7703 * 1«52 2,121
— WSl 50,0003 1 122 600
— ZE S| 200,000& »23] 400
— A2tel g 7,6403 *8BAl 2+ 12 734
—Qlx=g 40,7703 x 10 408
201 LBt 140,204 120,548 19,656
01 At 22l 29,258 21,602 7,656
Oger==8gH| 28,250
— NZA MgH g2ty 2tet JME
9,000& *23H A *23] 414
— XA MY RO BeHIS (L) ME
50,000 * 14K 2 *23] 1,400
—SEONAN 7Y 42,900 128t A+ 12 6,178
— 288 SEIXA 2
42,900 128t A+ 12 6,178
—XNgH HEER =8 =2 11,300
WAYE SIEE 242
2,000 #6021 *23| x 128 2,880
- S)lEs =8 1,200& x50 128 720
HEXg & 58 S22
470,000 * 10CH 4,700
CHEYLE UL HE 42
3,000& +1,000A 3,000
—HEng HSEHIX 37 & =44
20,0003 »24 % 480
— XA HE X e x5 SE 82
2,000& 35021 23] 1,400
—HENE IHsE JESEF S
10,0002 »90CH 900
ozl 1,008
~HAYREN S2HAY)
7,000 *3H «43| x 128 1,008
02 2324l 110,946 98,946 12,000
Oz3&22= & HA 105,666
— XA MEDANM ERHUHE 28 dete
= 2403 250,000A 60,000
—XNgH HEXNH SET LS SIRER
1, 7703 2,000 123 42,480

_4_




M N
g M HE 22

ool KEME = (crel: @ el)
x 5 - 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
b |

— XA M Hah & XY
1

N gs SIeE2 770 * 15024 * 122 3,186
OAl& ZH S X bl 5,280
~HUERESAAY X S22
440,0002 122 5,280
202 01 Hl 82,656 82,656 0
01 2ot 82,656 82,656 0
OXA BAXE ZA L Mg =201
20,0002 +20% *83| * 122 38,400
OXEN 2UXE TA L Mg =a
264,8002 102 * 123 31,776
OREX BIRXIE LRIZEAHZS)
150,0002 *4% 43| 2,400
OSEMLH 24 ¢ HENHSH HX
20,0002 * 142 *33| * 122 10,080
301 AP A2 2,700 2,700 0
OB A3 2,700 2,700 0
OZ0 & AN sle 2a 2,700
— DX ZHMAQ FE 2 A
270,0002 * 10CH 2,700
303 ZA2 35,500 35,500 0
01 Z&2 35,500 35,500 0
O Fel R+TLY A4 50,0008 10 500
ONMSXM LMY HEEH X B2 T
2 5,000 *3,000CH 15,000
OBEE XA M HL+EAS
2,000,000, 0008 *1/100 20,000
403 XIS SKH=0l & 25,960 3,960 22,000
02 27|25 0fl O 3+ C) 3 AL 2 b 25,960 3,960 22,000
ORI HEH AXANAY 29
330,000 * 122 3,960
OMAIZ HIBLE HR2ANAY 29
22,000,0002 *14! 22,000
Hlel4el stz 58,194 59,794 A 1,600
201 Y2 b 15,872 15,872 0
01 AtR 22l 15,872 15,872 0
oY+ g 15,872
— Q=) 24| 220,000 *24TH *40% 2,112
—ox) AQE ¢ 50,0002 *24CH 12,000
— N+ MMADIN 2
44,0002 *408 A 1,760
303 Zar2 9,222 9,222 0
01 &2 9,222 9,222 0
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ool KEME = (crel: @ el)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OUEE MU+ = Za=s
500,000, 000& *1/20%5% 1,250
OEH Al - &= MEXEN e XNEA H=FE
a3 40,000,000 *10% 4,000
ONYZ4 RSTZL NAAZ
264,800 *30H *13] *50% 3,972
403 XSS =0l & 26,500 21,500 5,000
02 S| 2 S0l CHSHCH & A Bl 26,500 21,500 5,000
OMe=g daZ208 S22/ (A2
26,500,000& x13l 26,500
405 XHoHF S HI 6,600 13,200 A 6,600
01 AL EZFH S 6,600 13,200 A 6,600
OLzoE) WA 72 2,200,000 »3CH 6,600
N =EDLHE T AL 131,596 132,212 AB16
101 @124 dl 39,209 39,385 A176
04 JI2ZtHZ22HEE =+ 39,209 39,385 A176
OMNEFEIIAXZ AL ALH QIR 35,929
— o= 39,6603 «1H x23) S+31& 28,278
— Z2HAH| 2,000 3 23«31 %23 2,852
- =54 39,6603 x23H x4 3,649
— WSl 50,000 *23H » 18 1,150
OME=EIA ZA 212 EEZ 3,280
— =3z RE=S 28,278,000& x4 .5% 1,273
—d2E2E=E RE= 28,278,000& *2.95% 835
— 8288 23 28,278,000& *1.5% 425
—dHEEE RE= 28,278,000& *2.508% 710
—LFIRY FHE 2
1,117,000& 3. 28% 37
201 Let249] 88,787 89,227 A 440
01 At 22l 85,925 86,365 A 440
Oget=gH| 79,135
—HEFEItA SHMA 200,000 1100 S 2,200
—OHEFEIIA AWTIIA 2E442
5,808& *22,000= *50% 63,888
—RE I AR ER BEL4R
7,260% *100= *50% 363
—HEZEEIH Ol ME A AELaT
24,2003 *100= x50% 1,210
—HEFIIH ZH L SHTAE HoIH
- 4,000 150 & 600
—jgFeIN KN EAUS 2UST 7
29,7003 202t A 594
—HEFEIA 225 L2 100& +30, 00004 3,000




SHHED
mE: M W el
Sl HEME 22

S HD B (SH) - NRAY - BAS O 4t o8 il
“HEFEIE ZAE SASA oY
20,000& «58t A x12& 1,200
—WEFEOIH ZHEXL WA
60,000& *208F A 1,200
—HEFEIE A L =2EE EAdIHE A
& 50,000& * 1000 A~ x23] 1,000
—HEFSINATA EUE T2 2Y
250,000& 4 1,000
— 22t OlEEE JIERIX 2
960, 000& *x1CH *33] 2,880
oggs+4 3,640
— NEAHAORARAG S
70,000& x6H *23] 840
—SDA SSMEIIAAS BB LY
70,0003 x10H 43| 2,800
==l 3,150
— g F=EDLA AN =& 0f A
7,000 *3H x153| x 10 3,150
02 Z2=2=24%4| 2,862 2,862
O332=2 % HA 1,062
—HEFEItA QJAMSE L 0adZ2U S
N2 gs SE= 1,770 x60021 1,062
OA & &Hl S XY 1,800
~ g HECH T2y SXPs
1,800,000& *H 13| 1,800
202 04 d| 3,600 3,600
01 2L HI 3,600 3,600
OMNE = A (|
20,000& »3Y x5 x 128 3,600
HHMSHAY (MED) 171,076 171,064
Jl2d@al (A D) 171,076 171,064
Jl2dd (MAW) 171,076 171,064
201 Bt A H| 68,892 68,892
01 AR 22l ] 68,892 68,892
Ogbt=2H| 36,636
—JIS2AREEH| 100,000& ~48H 4,800
— S A X2 350, 000& *x2CH *6 3] 4,200
— SASA 2L 20,000& 30t A %128 7,200
—D2H ¥ A SX2A2(EURY S)
237,000 1201 x7 3] 19,908
—olgo FME Wesd dgs
44 000& ~12& 528
O3l 32,256
—NELR =& A
7,000& x48H 63| x12& 24,192
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2A D
F2g2d (MED)
2

M oy
el =AY (ME D) (SHol: @)

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
— HEXE of2Hs T X S20HAH|
7,000 <48 23| 12 8,064
202 o4dl 91,892 91,892
01 = LH o4 1l 91,892 91,892
OXZN =& 20t
20,0003 «28H »83| «12& 53,760
OXNZMEBIR FEHHI(22)
264,800 x12H x123| 38,132
203 R =&l 4,752 5,280
04 FN2ELRZ=TH| 4,752 5,280
OMZE 440,000 123 *90% 4,752
405 TtHakH S| 5,540 5,000
01 AL ESH SH 5,540 5,000
OXNZHNEBLHE=A A 2
4,840,000 »1CH 4,840
o #¢ 700,000& = 1CH 700




